TRINITY GLASS
INTERNATIONAL

GLAZED PREMIUM FIBERGLASS
DOUBLE DOOR w/ SIDELITES

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 Infernational
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in wind borne debris regions, the opaque door panel has been tested
and evaluated as an impact resistant product and does not require the use of an
approved impact resistant covering. The sidelites must be protected with an impact
resistant covering that complies with Sections R301.2.1.2 and 1609.1.2. This opaque
door meets missile level "D" as defined in ASTM E 1996.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.
Conditions not covered by this drawing are subject o further engineering analysis.

TABLE OF CONTENTS

SHEET #

DESCRIPTION

pu—

Typical elevations, design pressures & general notes

Door panel construction details & glazing details

Sidelite panel construction details & glazing details

Horizontal cross sections

Vertical cross

sections

Vertical cross

sections

Frame anchoring

Components

V||V A |WIN

Bill of materials

* 9
:
,J
<t

-
2
AN
SCHMIDT 2

Ty ll

o0
",‘\v?:\',........_

PELCEY
AT\ 2 -

o

.E OF Z.Qf

LYNDON F

Maade®

: o~
S o &

2 et e
Pl S
i &

105" MAX. O.A. FRAME WIDTH
74" DOORS FRAME WIDTH

97.88" MAX. FRAME HEIGHT

15.5" SIDELITE
FRAME WIDTH

DOUBLE with BOXED SIDELITES

INSWING

105.0" x 97.88"

OUTSWING

G1
105.0" x 96.75"

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By

Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

TRINITY GLASS INT'L
PREMIUM LIPLITE FIBERGLASS

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PART OR ASSEMBLY:

PRODUCT:

BY

NO| DATE

REVISIONS

DATE: 8/11/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—-56234

sHEer 1 oF 9

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5234.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ 9NIaTIng "M'd Lzoz §

ZS8LL—4 # NOLVAMLISIOZN 40 ILVOIAILNID SNOISIAY
SHI3NIONI &_<zo_mwuuomn_ 40 QuvoE Swx3l m&%@ﬁm@mmﬁwﬁbﬁ mmmw\%ue Ad 31vd [ON Sloals=lon]l < 9_
¢ % *ON euo S Y Rl w
c65ee n..ﬂmowm_mu\mrwnu vqom O:Mgg ‘ATGWISSY HO Livd W m el . :2u o
“ONI ‘SINVLINSNOD ONIaTINg S g | 2_

SSY1943414 FLdIT WNIN3dd ® 15 e W

P — 7.ANI SSV19 ALINIML AEIFN -
‘3'd IPIWYSS ‘4 UOPUA]  :Ag pedpde.d sjuewnoog 110Naoyd HEIHE m %

W60

8

O

z -

23 :

~ .\_'\_‘\.'\‘

|=—1.56" ——]

TOP RAIL

s 156" =]
’ BOTTOM RAIL

i I R

—= :.VQ.O -

R F60

EXTERIOR
LVL
RAIL

//
!
//
/4

7

m VERTICAL CROSS SECTION

INTERIOR
PVC —

Ez
— &R
O &
= o™
m
o > —
S '@ =— 95" —
m T =
= — i 8K o
o I 7 =80
" q q + i
® > 5§ 5 & N
s 3.8 = | T
- w e« o i
¥ o3 o o 3 6171
m 2o 2 20 "
IO. / = ‘l:OQ_.O
Ny
5
_ % § b — 6910
D 3 A/G 2 251
— N
T M —n . S
m =17 o 3 91Z1 ﬁ « «
L :
2 £ (9 ® S
/| o m L
¢ 5 O (3 =2 E
o 2 = oz 2 e o
= M %]
& zl O : =
/i N & 3
1/4 = P
Q (®
X
5 &)
\.\.\4
: |~ 96| —|

@
—.548°CL

®

@ PREMIUM LIPLITE FIBERGLASS DOOR

35.81" MAX.

PANEL WIDTH
21.00" MAX
D.L.O. WIDTH

1HOIIH 'O 1A XYW ./8'8/

EOMPOSITE CAP
y RS

IHOEH TINVd XYW .5T°'56

DMP7E¢S-X1\sPUIMBIQ\E L2-4d\su] O 3daQ sexal - G\LNINVIANYId SSe|D ANULINSIUBIDNZ



"ON| SLNVLINSNOJQ aNIaiing *"Mm'e L 202 @

2S8LL—d # NOLLVMLSIOFN 40 31VOI4ILM3D STVLIA 9NIZY1O ANV STIvL3a SNOISIASY -
SHIANIONT VNOISS3H0¥d 40 auvog Svx3L NOLLONYMLSNOD T3NVd ILT3AIS Ad J1vd [ON = vl S - 9_
‘659" *ON ®uo . M
oo iy Joges \Svg. K1BN3SSY d0 1avd W = 1, N|s
*ONI ‘SINVLINSNOD SNIaTINg N 2 | 3_
SSV1943814 3LNdIT WNIN3dd ©f 5|5 e o
£ZLPOL# '3'd SVXIL 1ANISSYIO ALINIEL EIEIRE b
‘3°'d PIWYDS ‘4 uopuk :Ag peJpdeudd sjuswnooq . +10Naodd M n W .m_u” W %

//
/4
//
/4

@

N\
LLLL

G1
EXTERIOR
7“2\ VERTICAL CROSS SECTION

Mm ‘l:ﬂm._.lv M
S 5
) o 3 3 3 =
S
Frn iR S O By X 2o
) M ¥ ola b3
< AAMNNN = = (2 Q J
S T ~0< =0
[ =
O 4
—.Q.F-v —
S\ 2 i A\ 3
A\
: 5 & r == Yy 8 — 3
< o © = m 90'L
= g <) 8 ; 3
& zl = » A =) 3 5
\\ S z A = + S
N s RS =
W S @ SO % oD
- S 3 W 2 S
O S o W
O (= f ©°
2 -7 = 2L — (2

/ :

di|

‘O 1A 'XVYW.SL'C9 L

LHOI3H TANVd XYW .5C'56 -

13.88" MAX.
PANEL WIDTH
6.87"

MAX. D.L.O.
@ PREMIUM LIPLITE FIBERGLASS SIDELITE

DMP7E2S-X L\sDUIMBIQN\E L2-1d\sUl 30 300 SexoL - B\LNINVINYId SSeID AHULL\SIUBID\:Z



NOTE:

1. Sidelite ass'y fastener: " from each end and 6
more screws equally spaced between (8 screws
total per jamb).

LOCK & DEADBOLTRATINGS CHART
MANUFACTURER MODEL
LOCK: 740 21
RIWIRSED DEADBOLT: 780 22
/- DRYWALL
Y /
INTERIOR
!,
Ay
\\\\ t\ ,!>>>>>>>>>>>»>>>>>->,,,, -~
EXTERIOR

)

m HORIZONTAL CROSS SECTION

see (63

NOTE 1

\\ EXT. SHEATHING

m HORIZONTAL CROSS SECTION

\U Outswing shown
Inswing also approved

W Endura astragal

——

INTERIOR

(#9)

Pyt

¢ OF.T
ot

°
o ey,

U]
7

.
*

Wy
&y

LLLALL

o

L { v, .’._"
er' ?‘4‘2‘9 ...... :
222 Hxin s
Nandes™©

Y%
X
80

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

0.15"
l=— C'SINK
(TYP.)

]

SAANVVNNNRL
\ k l‘ =
,////)‘/////,'//u//,//u,,:,/A ‘ "
/1170010117770 "/// '//,ué/
VAL LI
»//////;‘ l'.'//v///////

O @
(12

o

A\

/

@ L/ 8
K

9
EXTERIOR

m HORIZONTAL CROSS SECTION

W Outswing shown
Inswing also approved

P.O. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

TRINITY _GLASS INT'L
PREMIUM LIPLITE FIBERGLASS
HORIZONTAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NO. DATE

DATE: 8/11/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
TX—5234

SHEET 4 oF 9

- Z\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5234.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



"ON| SLNVLINSNOJ aNIgiing *Mm'd L2022 @

ZS8LL—4 # NOLVMLISIONY 40 ILVOLILNID SNOISIATY i
SHIINIONI TVNOISSIH0Nd 40 Q¥VO8 SvXal SNOILDIS SSOMD TYILLYIA A4 31vd [ON 5 slzlo| « 9_
LB16°6S9°CL8 'ON ®euoyd : | M
GBSES 14 O9MIDA 0SZ Xxog .0.&\&\%@. A19GIWASSY M0 1¥vd W _m = . R2... s
*‘ONI ‘SINVLINSNOD ONIaTINg Y . g | 5_
SSY1943814 _3LdIT WNIW3Nd O |&]|&5le &2
CZLYOL# “3'd SVXAL TANI SSV19 ALINIML i w NN &
‘3°'d ‘IPIWYDS ‘4 uopuAk :Ag pespdeud sjuewnooq :10$Naodd m 2 W m m %
227 FL

w
F
[NN]
(2’4
s
(a4
@) O
O oz
B
<
= =
o 9 =
. : >
L a5 “
— K] - c
Z a5 “ pd i)
Z Qe oliE
S5 &l
&) = U2
3|0 o IS
N 9|2 o) Yo
w .m L AL LW = 1T} W
S5 > Z >|=
L
mw mw
(2’4
S =X=)
(a4
: S B
L
0 o 3
2 z
O
O

WOOD

L
—
L
oz
O
Z
O
©)

o

/ DRYWALL

—©
W)
\

AL =

Y

RALERELEL R RN RE

INTERIOR
INTERIOR

\\

e

/ 1"\ VERTICAL CROSS SECTION
w Outswing shown
Inswing also approved

7“3\ VERTICAL CROSS SECTION

W Outswing configuration

EXTERIOR

EXTERIOR

DMP 7£2G-X L\sDUIMBIQ\E L2-1d\sUl J0 308 sexoL - a\LNINVINYId SSeID AHUL\SIUBID\NZ



¥ ’;::7“‘1112 :.jg
o A . £
) P iLi £* 8 2P
J N guiy iod bu o8 &F
¥ |4 ) AT :d)E Wt 2 n Gu
| OV 0, 08 T oo
X SHEATHING \ ' 1 EXTERIOR ., INTERIOR Y. 1o 5 558 ge
[ & g gy izt . £g® &b
Il s /@ Y\ ’ SEE WOOD e - By
% NOTE 1 ? £Z£d, O
! = @ CONCRETE 5§ 9 Z‘ : ;3
SEE 1 i Y Bof gL
NOTE 1‘\ ~\@ o § 82
5 £
NS 3
62 . = 8
4 8| o
) 2
S I
= wn
EXTERIOR INTERIOR Q- o
- \ — = 68
= |m
/ 1"\ VERTICAL CROSS SECTION / 2"\ VERTICAL CROSS SECTION =
— w0l
8/ NOTE: \_6_/ Outswingssil 2=z |2 §
e 572 |2 B
1. Screws thru head and il RN
jamb located 3" from each g g
end and O.C. (TYP.) line.
EXTERIOR INTERIOR &
/]
EXTERIO INTERIOR K
EXTERIOR u ENIERIAR
)
=z
(@]
@ K SEE @ %
NOTE 1 L
WOOD =
P ) CONCRETE =
>
DATE: 8/11/21
scaE  N.T.S.
/3 "\ VERTICAL CROSS SECTION /4 "\ VERTICAL CROSS SECTION e B __BW
w Outswing sill - high dam \U Inswing sill cHK. B::  LFS
DRAWING NO.:
TX—5234
SHEET _6 oF _9

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5234.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



SEE HINGE
DETAIL 1

=

26" MAX
0.C. (TYP.)

—

SEE
HINGE
DETAIL 2

——=1 875"
® O /

HINGE JAMB

2X FRAMING
BY OTHERS

I

3" (TYP.)
4 (TYP.) e

3" (TYP.)
4" (TYP.) ——|

]

I

TYP.
HEAD
& JAMBS

—

2X FRAMING /

FLOOR

SUBSTRATE
MATERIAL \

1

[

P,

/!

ASTRAGAL SHOWN
FOR REF. ONLY

TYP. SILL

Lyl

&' (TYP.)

14.5" MAX.
0.C. (TYP.)

O
i

. -/

\\

A=

\\_°
A\

VIEW A-A

Astragal strike @ head

FRAME ANCHORING
Stud construction

\

VIEW B-B
Astragal strike @ sill

~— 3" (TYP.)

=]
|

JAMBS

12.875"

ASTRAGAL STRIKE

AN S

f'/‘-ZL

&)

i\
\\

&

STRIKE PLATE DETAIL
Astragal

\

\Y

24

X
IS

o
=)

HINGE DETAIL 1

o
—0
®

e

1T 1
)
{

=3

—(®
A=

HINGE DETAIL 2

i
R
g2, B
| Ex 2 wo
0 M Z:
0w OmMm 01
0 2 N fu
[N E_"”
c ) - e
s o X
E 0> ZZ
e <92 Go
< R TO =
2 dgpe 2k
g >0 EE
=z
s gRr® 98
P O N -
m o oLl
O xz "
o =z 0 L
o Zoy Ok
g 245 ¢
o S50¢ %E
o Mmoo 05
m
. -
& o
E 6
=
(3]
[o]
[a]
n
<
—I0
—x 1S
LJ =
Zg %
i
A T
w ., O
T P
(.')n_l_ ol <
=l I
& H =
Zs |9 =
LED OIS E
5"§ e
Q| w |o
2| x
o & |&
o o
>_
m
%)
z
©)
(2]
[
L
<t
a
o
z
DATE: 8/11/21
ScALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
TX—5234

SHEET 7 oF _9

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5234.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



ON| SLNVLINSNDJO 9aNIaTIing "M'd Lzozg §

ZS8LL—d4 # NOLVMLSIORY 40 3LVOL4ILNIO SNOISIAIY i
SHIIANIONI TYNOISSIJONd 40 QuVOs SVX3L SININOJWOI Ad 3ivd [ON = slzle| « 9_
L6L6°6S9°CL8 ON euoyd : : M
soure o SLEL o e \R\w@ XTENISSY H0 1uvd W = S
“ONI ‘SINVLINSNOD ONIaTINg NEEREEN 8_
SSVY1943414 _3LTdIT WNIW3Nd ©f &5l =
T — 7.INT SSV19™ ALINIYL HEIEM: m
‘3°'d ‘IPIWIYDS 4 uopuAk :Ag pespdeld sjuswnooq :10Naodd m 2 W w W %
\N..u i
\% :om._.|“|'4
o:
o %@
5 envor g
“ ................................ ......ﬁ
3 LOINHOS 4 NOONAT 2
."h ..... % -.:.ooo:......‘. .......... .--.:- A L o
k ¢ .-a. : i B o = ~ &
: w 4 T
e = 3 o)
o~
W20
T TE
<
NN === B
6 —
&5
» 318
&0
_H (1]
& X
el
33 B
] ~
(o)
(0]
—_mR-
(7]
Q
| s
S
=
o WO L s
o3 ac SO oc m
w w M o
a 3 < =
u% i< a. a. Ll o
; & : S0 E
~ - |- o == o
| £ N — W P9
| N W) in
© L :
al= ——{=—.800 “[© o
o 3 (® -
| ©
=] [ _._.M.O
= ..WN._. [~
—= WLE'l A.AI
W00y Qa Q
9 3 9
(o] I T
_ 3 @ ]
S el § =
P 1]o 0 2 £ls .
i = ol ®
% O O . J of & 2 & =
I 2 3 = Sk c S
© = : = 2L i
o x el ] ,@\m S| =
P ® % ;
, (=) (® ®
L A‘| ___..O

BMP 7£25-X L\sDUIMBIQNE L2-dd\sUl J0 308Q SsexoL - a\LNINVINYId SSBID AHULNSIUSIDNZ



L
BILL OF MATERIALS o &

ITEM| DESCRIPTION MATERIAL % 3 & gg
A | 2X HEADER FRAMING (SG >= 0.42) WOOD £¥* § Eg
B | 2X FRAMING (SG >= 0.42) WOOD e 29 B
G [ MAX. 1/4" SHIM SPACE WOOD gg g lfo g 4%
| |3/16"X 1-3/4" ITW CONCRETE SCREW STEEL E £ 2 % éé
J | #10 X 3"PFH WS (1-1/2" MIN. EMBEDMENT) STEEL < 23 ¥ ﬁé
K | #9 X 2" PFH WS STEEL 5 § ﬁ © o2
L | #8X2-1/2' PFHWS STEEL . ©xf &
P | 1/4" FH DeWALT OR ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL £ % Do ZLS
Q | 3/16"FH ITW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL g B0 fo EE
1 | SIDELITE JAMB - FINGER-JOINT PINE WOOD BILL OF MATERIALS o o
3 | HINGE JAMB - FINGER-JOINT PINE WOOD ITEM| DESCRIPTION MATERIAL E ég
4 | HEAD - FINGER-JOINT PINE WOOD 60 | SIDELITE SPACER - OUTSWING PVC § ©
5 | INSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUMINUM 61 | SIDELITE SPACER - INSWING PVC o
6 | DOOR BOTTOM SWEEP PVC 62 | QUARTER ROUND WOOD
7 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - 63 | #8 X 2-1/4" PFH SCREW STEEL ?

8 | #6 X 1-1/4" PFH DRYWALL SCREW STEEL 64 | #8 X 2" PFH WOOD SCREW STEEL r:é -
12 | WEATHER STRIP QEBD650 Q-LON - 65 | #10 X 2" PFH SCREW STEEL '§§ <
18 |3.983" X 4"HINGE MIN 0.098" THICK STEEL 66 | SIDELITE PANEL - SEE SIDELITE PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS - %E ﬁ
19 | SILLKEY PC/ASA 73 | LVL SIDELITE TOP RAIL POPLAR SE |y S
21 | LOCK (SEE LOCK & DEADBOLT RATINGS CHART) STEEL 74 | LVL SIDELITE BOTTOM RAIL POPLAR ;g 2 =
22 | DEADBOLT (SEE LOCK & DEADBOLT RATINGS CHART) STEEL 75 | LVL SIDELITE STILE POPLAR == ﬁ —
23 | STRIKE PLATE STEEL e Eg : m
23A | DEADBOLT PLATE STEEL § o
24 | #9 X 5/8" PFH SCREW STEEL ol * |k
25 | OUTSWING HIGH-DAM THRESHOLD ALUMINUM W/ COMPQOSITE SUBSTRATE ALUM./ COMP. = =
26 | #9 X 1" PFH SCREW STEEL %
27 | OUTSWING THRESHOLD ALUMINUM W/ COMPOSITE SUBSTRATE ALUM./ COMP.
30 | LATCH STILE - SG >=0.42 LVL/PVC
32 | HINGE STILE - SG >=0.42 LVL/PVC
33 | TOP RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC
34 | BOTTOM RAIL - POPLAR LVL & WPC COMBINATION POPLAR/WPC n
39 | FIBERGLASS SKIN 0.079" MIN. THICKNESS FIBERGLASS 5
40 | #8 X 1-1/8" SELF THREADING SCREW STEEL i
42 | ALUMINUM & BUTYL SPACER SYSTEM ALUM./BUTYL EONCRETE ANGHOR NOTES Q
44 | HOT MELT SEALANT / SILICONE - 1. Concrete anchor locations .af the corners may be adjusted to maintain the min.
45 | LITE FRAME PC/ASA edge distance to mortar joints.
46 | INSULATING FOAM CORE POLYURETHANE 2. Concrete anchor locations noted as "MAX. O.C. (TYP.)" must be adjusted to
B maintain the min. edge distance to mortar joints, additional concrete anchors
53 | #8 X 1-3/4" PFH SMS STEEL may be required fo ensure the "MAX. O.C. (TYP.)" dimension are not exceeded.
54 | ASTRAGAL STRIKE @ HEAD STEEL 3. Concrete anchor table: Ly
55 | ASTRAGAL BY ENDURA PRODUCT ALUMINUM R e |'MIN.:CLEARANCE )
56 | ASTRAGAL STRIKE @ SILL STEEL " | TOADJACENT ;
s i ANCHOR: CZ)
rapcon® | 14 1-3/4 z & owTE: 8,/11/21
SCALE:
areon® | 316" 1-3/4" AS SHOWN 1-1/2" chk. 8. LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of TX—5234

wood screws to prevent the splitting of wood.

SHEET 9 oF 9

Z:\Clients\Trinity Glass PERMANENT\B - Texas Dept of Ins\DR-213\Drawings\TX-5234.dwg

© 2021 R.W. BUILDING CONSULTANTS INC.



